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7 100kN/mM%BZ 5 — - ~ — —|3mZEBZD - ~ - - — | 100kN/M%#BZ 5 — - ~ — —|3mZEiBZ D -~ — — —
s 1.00 | 0.00 ~ 5.46 68.13 | =nst | 0oo ~ 000 | 1.69 9.03 st 1.00 | .00 ~ 6.00 6813 | Tnhst | 5.00 ~ 6.00| 1.69 9.08
2 100kN/mM%#BZ % — - ~ — —|3mZEBZD - ~ - - — | 100kN/M%#BZ 5 — - ~ — —|3mZEi#BZ D -~ — — —
s 1.00 | 0.00 ~ 6.81 86.20 | =nLst | 0.00 ~ 000 1.69 8563 st 1.00 | 6.00 ~ 9.10 86.20 | =nS | 5,00 ~ 9.10| 1.59 8.68
3 100kN/mM%#BZ % — - ~ — —|3mZEBZD - ~ - - — | 100kN/M%#BZ 5 — - ~ — —|3mZE#BZD -~ — — —
s 1.00 | 0.00 ~ 6.05 75.78 | FnLS | 0oo ~ 605 1.82 974 st 1.00 | 6.00 ~ 7.00 75.78 | *hLSY | .00 ~ 7.00| 1.82 9.74
4 100kN/mM##BZ 5 — - ~ — —|3mZEBZD - ~ - - — | 100kN/M%#BZ % — - ~ — —|3mZEi#BZ D -~ — — —
s 1.00 | 0.00 ~ b5.65 70.57 | NS | 000 ~ 565 1.84 9.84 st 1.00 | 6.00 ~ 6.40 70.57 | TS | 6,00 ~ 6.40| 1.84 9.84
5 100kN/mM%#BZ 5 — - ~ — —|3mZEBZ D - ~ - - — | 100kN/M%#BZ 5 — - ~ — —|3mZEBZD -~ — — —
s 1.00 | 0.00 ~ 627 7875 | TR | 000 ~ o0.00| 1.65 882 st 1.00 | 6.00 ~ 7.50 7875 | ThS | 6.00 ~ 7.60| 1.65 8.82
P 100kN/m%EBZ5 | 1.00| 000 ~ 083 11246 |3mEBZD - ~ - - —| 100kN/mMi%E#8Z5 | 1.00 | 1068 ~ 1309| 112.46 |3m%EiBZ 5% -~ — — —
s 1.00 | 0.83 ~ 862 100.00 | #nlst | 0.00 ~ 862|228 1218 st 1.00 | 6.00 ~ 1068 100.00 | =nst | 6.00 ~ 1309| 2.28 1218
- 100kN/m%E#8z5 | 1.00 | 000 ~ 1.97| 13042 |3mE#Bz% - ~ - - —| 100kN/mMi%E#8Z5 | 1.00 | 11.562 ~ 1914 1830.42 |3m%E#BZ 5 -~ — — —
s 1.00 | 1.97 ~ 9.76 100.00 | #nst | 0.00 ~ 9.76 | 2.63 14.09 st 1.00 | 6.00 ~ 1152 100.00 | =nst | 6.00 ~ 1914 2.63 14.09
P 100kN/m% %% | 1.00 | 000 ~ 023 10337 |3m&EBZ5| 000 ~ 0.04| 3.03 16.23 | 100kN/mi%#825 | 1.00 | 1749 ~ 1867| 10337 |3m&#Bz 5| 1500 ~ 1867| 3.03 16.23
s 1.00 | 023 ~ 801 100.00 | #nst | 0.04 ~ 801 | 3.00 16.06 st 1.00 | 6.00 ~ 1749 100.00 | =nst | 5.00 ~ 1500 3.00 16.056
9 100kN/mM#EBZ5 | 1.00 | 000 ~ 245| 13838 |3Im&EBZB| 000 ~ 088 5.62 19.36 | 100kN/mi%#825 | 1.00 | 1344 ~ 2755| 13838 |3m&#BZ 5| 2000 ~ 2755| 3.62 19.36
s 1.00 | 2456 ~ 1024 100.00 | #nlst | 0.88 ~ 1024 3.00 16.06 st 1.00 | 6.00 ~ 1344 100.00 | =nst | 5.00 ~ 2000 3.00 16.06
10 100kN/mM%#BZ % — - ~ — —|3mZEBZD - ~ - - — | 100kN/M%#BZ 5 — - ~ — —|3mZEiBZD -~ — — —
s 1.00 | 0.00 ~ 4.34 54.22 | #nS | 000 ~ 4.34| 1.97 10.57 st 1.00 | 6.00 ~ 5.00 54.22 | =hS | 5.00 ~ 56.00| 1.97 10.67
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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